t25_toler 1 (TMXyvaYLS-
DtLDYF2grkT81 Amhhd2BGJxC7v)

October 27, 2020

Let vl_relat_2 : t=>0 be given. Let v3_relat_2 : t1=-0 be given. Let v1_partfunl :
t=t=>0 be given. Let k3_tarski : 1=t be given. Let ml_subset_1 : t:=1=0 be
given. Let k1_z fmisc_1 : 1=t be given. Let k2_z fmisc_1 : t=-1=-1 be given. Let
k4_tarski : t1=>1=-t be given. Let r2_relset_1 : 1=1=1=-1=>0 be given. Assume
the following.

VX0VX1VX2. (ml_subset-1 X2 (kl_zfmisc_1
(k2_zfmisc.1 X0 X1)))=(VX3.(ml_subset_1 X3 (kl_zfmisc_1
(k2_zfmisc.1 X0 X1)))=((r2-relset.1 X0 X1 X2 X3)<(VX4.( (1)
ml_subset_1 X4 X0)=(VX5.(ml_subset_.1 X5 X1)=((kd_tarski

X4 X5 € X2)&(kd_tarski X4 X5 € X3))))))

Theorem 1

VX0.VX1.((vlorelat2 X1)A((v3-relat2 X1)A((v1_part funl
X1 (k3_tarski X0))A(ml_subset-1 X1 (kl_zfmisc.l (k2_zfmisc_1
(k3_tarski X0) (k3_tarski X0)))))))=(VX2.((vl-relat_2
X2)A((v3-relat-2 X2)A((vl_part funl X2 (k3_tarski X0))A(ml_subset_1
X2 (kl_zfmiscl (k2_zfmisc_1 (k3_tarski X0) (k3_tarski X0)))))))=
((VX3¥X4.(kd_tarski X3 X4 € X1)=(3X5.(X5 €
X0)A((X3 € X5)A(X4 € X5))))A(YX3.VX4.(kd_tarski
X3 X4 € X2)(3X5.(X5 € X0)A((X3 € X5)A(X4 € X5)))))=(r2_relset_1
(k3_tarski X0) (k3_tarski X0) X1 X2)))



